Efficiency vs Dxy(PV)

055-20-15-10 -5

Iil i ”“ | |5|
IIIIIII HH }ill ||W |\|| | M

0 25

TP dxy(PV) (cm)

—=— DQMstep3_TT_CKF
—e— DQMstep3_TT_default
[Efficienc] —— DQMistep3_TT_defaultNEWTepo?

S 0.1E

Ratio

TP dxy(PV) (cm)

Efficiency vs Dz(PV)

%0.18F
e} -

20.16fF -7+
Bo.1afenn
20.14f---- -
Q o

e
£0.12F
= F

Ratio
S
E o . Af SI"SenescpesasesqsenpanEne

A

-30 -20 -10 0 10 20

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 0.1:
o E
%0.09F- 4
° E

£0.08F
oy E
20.07F
2 E .
20.06F- -
T F
0.05F % .
0.04F; 4etl-r---1

0.03Et Ht---q---f---ieee oo HR AR

i i i




	Contents
	Page 1


